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& 152 K % ouT IN GR HDCP NET 5%&
& —i& Al 34 38 12 1.0 11.0
#E BB —F 39 39 18 6.0 12.0
3 H*E &hEA 317 44 81 9.0 12.0
4 (YT ) 40 42 82 10.0 | 72.0
9 fall EA 41 42 83 11.0 | 72.0
6 I % 39 39 18 9.0 13.0 |ADUkvY
1 FA SF 37 41 18 5.0 13.0
8 Rl EZ 41 39 80 6.0 14.0
9 BIE (&R 42 40 82 1.0 15.0 |A9UkvY
10 (=TI 2) 40 42 82 1.0 15.0
11 FH HAE 44 41 85 10.0 | 75.0 |A9> kY
12 iR FE 42 43 85 10.0 | 75.0
13 F OEE 42 45 817 11.0 | 76.0
14 INE BF 46 41 87 10.0 | 77.0
15 R &= 40 49 89 11.0 | 78.0
16 T B 46 40 86 6.0 80.0
17 | I KRXBER | 42 45 87 6.0 81.0
18 EH —&8 41 46 817 5.0 82.0
19 Bl BE 47 46 93 11.0 | 82.0
20 | tERK =EF | 45 47 92 9.0 83.0
21 MH RE 20 43 93 10.0 | 83.0
22 TH G 46 43 89 5.0 84.0
23 Brith 8= 45 46 91 1.0 84.0
24 R &% o1 45 96 10.0 | 86.0
25 INR —H o4 45 99 10.0 | 89.0
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NE£:L K % ouT IN GR HDCP | NET 5%

B St S 43 42 85 14.0 | 71.0

#E BFE A& 46 43 89 18.0 | 71.0

3 NHE & 45 39 84 12.0 | 72.0

4 | FH HEF | 45 43 88 | 14.0 | 74.0

9 A EE 48 47 95 21.0 | 74.0

6 mFE 1E1T 44 44 88 13.0 | 75.0

1 AR ME 48 43 91 15.0 | 76.0

8 mE XA 46 99 101 25.0 | 76.0
=

&8 42 48 90 13.0 | 77.0

10 | BEElR X 417 43 90 12.0 | 78.0

11 R B o1 48 99 21.0 | 78.0

12 | EH &RZ 44 49 93 13.0 | 80.0

13 BR ®EZ 50 92 102 21.0 | 81.0

14 | #%E FH 50 41 97 15.0 | 82.0

15 AR ZH= 52 45 97 15.0 | 82.0

16  {f<”K FERA 54 49 103 21.0 | 82.0

17 FE A 53 46 99 16.0 | 83.0

18 HEHR Ml 59 48 107 20.0 | 87.0

19 = B= 53 56 109 21.0 | 88.0

RR MAE 60 55 115 7 AR
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